50, will be treated as malpractice.

, compulsorily draw diagonal cross lines on the remaining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note : 1. On completing your answers

k.
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ima Frst //f‘

e

f,;'m) .Cumulative d1str1but10n function £
(" iv) Expectation. _* "% (08 Marks)
.**Describe Weibull' dlstphutron The tlme to failure for a component screen is known to have a

/ '</ System Modelmg and«”Simulation

& _Max. Marks: 80

Note: Answer FIVE full questtons, choosmg ONE full questwn from each module.

Define system, system envrronme -and its components w1th) example for each. (08 Marks)
What are the phases of srmulatron model building pr ess and explain them with suitable
diagram in brief with steps mvolved in it. (08 Marks)

1 O
]
s

OR
Explain time advanced algorithm. Draw flo chart of arrival event which is suitable for time
advanced algonthm ( (08 Marks)
A company ‘usér 6 trucks to haul manganese ore from a place to industry. There are
2 loadersy t0"5/load each truck. After loading a truck moves to the weighing scales to be
welghed The queue discipline is FIFO. When it is weighed, a truck travels to the industry
and retums to the loads queue. The distribution of loadmg,trme weighing time and travel
time are as follows : 2.

Loadmg\tlme 107 5 T 5010 [15 10 [ 10
Weighingtime | 12 | 12 |02 16 | 12 | 16 |L 3
Tra\'*"el tilhe 60 14040 | 80

@

Calculate the total busy times of both' loaders the scale ' a», ¢rage loaders and scale
utilization. Assume 5 trucks are at the loader and one is at'the scale at time “0”. Stopping

event time TE =.20 min. (08 Marks)

Explair{ followmg in brief :
i) Discrete random vanable
ii) Continuous random(va

Weibull dlstnbutmn with V =0, B /3 and o = 200hrs. Find meantime to failure and the

probablhty that a'unit fails before 2000 hrs. (08 Marks)
P ,
OR
Draw simple queuing model.z-What are the characteristics of queuing system, describe them
briefly. ) (10 Marks)
List and steady state parameters of the M/M/1 queue. (06 Marks)
Module-3
Generate and random numbers when m = 102 a=19,c=0and Xo=63. (06 Marks)

The sequence "of random numbers 0.54, 0.73. 0.98, 0.11 and 0.68 has been generated. Use
KS test" w1th o = 0.05 to determine of the hypothesis that the numbers are uniformly

drstnbuted on the interval [0, 1] can be rejected. Take Do = 0.565. (10 Marks)
1of2
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OR
Explain inverse transform technique for exponentlalf" stnbutlon (08 Marks)
Downtimes for a high—production candy-makmg “machine have been found to be gamma
d1str1buted with mean 2.2 minutes and vanous 2.10 minutes’. Generate ‘gamma variates

y

V) (08 Marks)

Write steps to construct hlstogra (06 Marks)
Test whether the following d 4 ollows Poisson dlstnbutlon usmg the chi-squares test of

goodness of fit. With mean o ﬁ
Amvals/perlod 2012 |3 |4 56 71819 (10(11

Frequency 10191710487 |5 [5[3 |13 ]1
(10 Marks)
- OR/
What are the: measures used for linear dependence between 2 random variables? Describe
them with,: Sultable formula. (10 Marks)

Define, termmatmg simulation, tran51ent sunulatlon and steady state simulation. (06 Marks)

Zogs= 1. 04) / § 4 (08 Marks)
Explain rephcatlon method for steady state sunulatlon & Lo (08 Marks)
Explain bneﬂy w1th neat diagram model bulldlng, venﬁcatlon and validation processes.

& (08 Marks)

Descnb&” (08 Marks)




